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TOTAL | HE{Z { TOTAL| NET TOTAL { HEfL | TOTAL NET
HRZBA TE
350 7 1296.0| 1 361 10 |296.2| 2
K 4 OUT | IN |TOTAL{HDGP| NET K £ QUT | IN |TOTAL|HDCP| NET
P 0B B B = 42 | 42 84 *| 9.6 |744%* F & B F 45 | 42 87 *| 120 [75.0%
" H = 8 F 45 | 41 86 *| 13.2 |728* £ H & B £ 44 | 45 89 *| 19.2 |69.8*
G S - S & 45 | 42 87 *| 13.2 |73.8* T AN H & F 41 | 49 90 *| 12.0 |78.0*
o | OB OF 47 | 46 93 *| 18.0 |75.0* B E R B F 47 | 48 85 *: 216 [734%
E OH# = F i 56 | 40 | 105 | 25.2 |79.8
TOTAL | JE{ | TOTAL| NET TOTAL | I | TOTAL| NET
FHEC AR -
351 8 13006 8 375 11 (2994 5
E % OUT | IN |TOTAL|HDCP| NET E 4 OUT | IN |[TOTAL|HDCP| NET
¥ % B F 39 | 43 82 *| 48 |772* N OB K 45 | 45 90 *| 18.0 [72.0*
= B OE % 7 45 | 43 | 88 *] 132 |748* &= It T ¥ 48 | 42 80 *i 14.4 |756*
- 45 | 44 89 *{ 156 |734* B B 3 v x 48 | 48 96 *| 228 {73.2%
7 X B I 46 | 46 | 92 *| 108 {B].2 L S S 48 | 51 99 *| 204 [786*
* g T 45 | 52 97 | 16.8 |80.2*
_ TOTAL | [EfZ | TOTAL| NET TOTAL | JEfi | TOTAL| NET
H¥%A BRZEB
351 9 |2994| 4 394 | 12 {3160 9
K 4 OUT | IN |TOTAL|HDGP| NET K A OUT ] IN |[TOTALIHDCP| NET
H B OB H 37 | 42 79 *| 6.0 [730* O - .47 | 44 of *| 156 |754*
i NI S 45 | 42 87 *| 96 |774% X B & F 48 | 47 95 *| 14.4 |806*
¥ OE B T 46 | 43 89 *| 15.6 [734* B B L F 48 | 55 | 103 *| 264 {766%
¥ BH B T 48 | 48 06 *| 204 |75.6* Wy 0 BE B#B OF 52 | 53 | 105 *| 21.6 [834*
#f B 5 A #H 52 | 47 90 | 19.2 {798 B o3 v B = 64 | 46 | 110 | 264 {836
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TOTAL | JEff | TOTAL| NET TOTAL | JEfZ | TOTAL| NET
&K KHEF
319 1 334 4 13016 6
K % QUT | IN |TOTAL|HDGP| NET K 4 OUT | IN |TOTAL[HDCP| NET
M FE O OE B 38 | 37 75 ¥| 24 [726 #u X — W 36 | 38 74 *1 24 |716*
o | - 39 | 36 | 75 *| 1.2 {738 X 8 B T 44 | 42 | 86%*| 96 [764%
g A K F 44 | 40 84 *| 84 |758 F B ¥ T 44 | 42 86 *| 72 l7a8*
E @ B F 43 | 42 85 *| 10.8 |74.2 o B F A F 46 | 42 88 *| 84 {796
q 8% B £ F 44 | 44 g8 | 12.0 [76.0 HOE ¥ F 45 143 88 | 13.2 |748*%
TOTAL | ME{iL | TOTAL| NET TOTAL ! [Efff | TOTAL{ NET
FEEDB IRZEIEH
327 2 343 h (2974 3
K # OUT | IN |TOTAL|HDGP| NET K 4 OUT | IN |TOTAL|HDCP] NET
¥ B M 7 39 | 41 | 80*| 96 704 E X E K 41 | 38 | 79*| 84 |706*
T B # F 44 | 36 | 80*| 60 {740 E BB £ T 40 | &1 | 81 *| 60 |750%
P =m T 42 | 41 | 83*| 84 [746 M & 8 F 46 | 42 | 88 *[132[748*
B T 7 30 | 45 | 84*| 84 (756 M & 52 | 43 | 95*| 132 [818
A S B & 47 | 41 | 88 ]108[77.2 B R B @ 7 46 | 49 | 95 | 180 |77.0*
TOTAL | JEfZ | TOTAL | NET TOTAL | ¥REfif | TOTAL| NET
ke ==y =~ _'_
FHEA Q)
329 3 346 6 13038, 7
E 4 OUT| IN |TOTAL|HDCP| NET K 4 OUT | IN |TOTAL [HDCP| NET
r B T #8 33 | 40 73 *| +3.6 |76.6 L@ W v F 40 | 40 80 *| 7.2 |728%
oo = A 43 | 40 83 *] 13.2 [69.8 P/ A I 43 | 42 85 *1 84 |7686*
s KX B T 44 | 42 86 *| 84 |716 E E K B & 47 | 43 | 90 *| 144 |756*
2 # F K F 45 | 42 87 *| 10,8 |76.2 H O OE OE T 46 | 45 91 *| 12.0 [79.0
EBE B £ F 50 | 42 92 | 13.2 |7887%




